Practice Toxins Unit Test

1. What type of reaction is this? Ag (s) + €(q)—> Agl (s) + Cu(s)

(A) single displacement (B) double displacement
(C) combination reaction (D) decomposition reatti
2.If a solution has a pH of 3, it is
(A) an acid (B) a base (C) neutral (D) adi¢ator

3. What is a precipitate?
(A) a solid that forms when two solutions are mixed
(B) rain
(C) the moisture that forms when you are running
(D) the formation of water in a reaction

4.To neutralize a base, you would use

(A) an acid (B) a base (C) an indicator ) \{&xter
5. To dilute an acid, you would use

(A)anacid (B) a base (C) an indicator ) \(&xter
6. The correct chemical formula for potassium carbermst

(A)PLCO;  (B)P(CQ.  (C) KCO, (D) K(COy),

7. According to this balanced equation, how many sofeCu are required to produce
10 moles of Ag?
Cu + 2 AgNQ - 2 Ag + Cu(NQ),

(A) 5 moles (B) 10 moles (C) 15 moles (D)ra6les
8. Which substance is the least toxic?
(A) chlorine (LDso = 850 mg/kg) (B) aspirin (LE3 = 200 mg/kg)
(C) cola (LD = 140 mg/kg) (D) vitamin A (LEy = 2000 mg/kg)
9 If you have 2 moles of glucose in 4 liters of simn, what is the molarity of the solution?
(A)O.5M B)2M (®M (D)8 M
10. How many moles of potassium iodide, Kl, are ther&00 grams?
(A) 0.6 moles (B) 1660 moles (C) 3.01 XMoles (D) 5.0 x 13*moles
11.How many moles of 0.28 M sodium chloride solutweould you need to have if you want to have 2.3diwf NaCl?
(A) 0.64 liters (B) 8.2 liters (C) 0.12 liters (D) 2.3 liters
12.1f you saw a container of NaCl (aq) in a lab, wivauld you see?
(A) solid (B) liquid (C) gas
13.1n order to balance a chemical equation, you temge
(A) the subscripts (B) the chemical formulas
(C) the reactants and the products (D) the caeffts

14. Which of the following is one of the correct punts of this chemical reaction?
KS + Fe(NQ), > t_
(A) KoFe (B) SINQ). (C) KNG; (D) FeSs
15. Nitric acid is formed by the reaction of nitrogaioxide with water.
3NG; (9) + HO (I) > NO (g) + 2HNQ (aq)
How many moles of nitric acid, HNQare produced when 8.4 moles of water reacts?
(A) 16.8 moles (B) 4.2 moles (C) 8.4 moles (D)2&oles
16. How many grams of sugar B 30 g/kg) would be lethal to a 175-pound man (Bs2= 1kg)?
(A)0.13 g (B)2.65¢ (C) 11550 ¢ (D) 2386 g

17. When a substance does dissolve in water, it isaall
(A) soluble (B) partially soluble (C) insoluble (D) a solution

18. Calculate the molar mass of ammonium phosphate,)gSi;.
(A) 96.0 g/mole  (B) 113.0 g/mole  (C) 242.0 g/mole (D) 121.0 g/mole
19. How many moles of sodium nitrate are in 0.65 lifa 0.5 M NaNQ@ solution?

(A) 0.325 moles (B) 2.8les (C) 0.43 moles (D) 18 moles
20.How many grams of glucose {i&,,0¢) would be needed to make 200 mL of a 1.5 M sah#tio
(A) 0.00167 g (B)54 g (C) 16700 g (D) 27000 g

21.What would you expect to see if you performed thioWing chemical reaction?

2 H;0; (aq)> H0 () + G, (9)
(A) bubbles forming in a liquid (B) just a liquid

(C) solid forming in a liquid (D) bnsolid forming
22. CO, (s)> CO,(0) is an example of
(A) a chemical change (B) a phgkahange
(C) a combination reaction (D) &amposition reaction

23. What is the correct description of this reaction?
Zn (s) + HCI (aq)> ZnCk (aq) + H(9)
(A) Hydrogen gas reacts with a solution of zincoettle to produce solid zinc metal in a solution of
hydrochloric acid.
(B) A solution of zinc metal reacts with soligdrochloric acid to produce a solution of zin¢octle and
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hydrogen gas.

(C) Hydrogen gas reacts with solitczthloride to produce solid zinc metal in a solutdf hydrochloric
acid.

(D) Solid zinc reacts withauion of hydrochloric acid to produce a solutwfrzinc chloride and hydrogen
gas.

24. When the equation F@®; + H, > Fe + HO is balanced, Fe has a coefficient of

(A) 6 B)3 ©)2 D)1
25.What type of reaction is this: AgN@aq) + Cu (s)> Ag (s) + Cu(NQ), (aq)?
(A) single displacement (B) doudisplacement (C) combination (D) decomposition
26.Which of the following is one of the correct protiiof the chemical reaction
Lil + Pb(N®R > + ?

(A) LpPb (B) LING; (©)Li (NQ)Z (D) Pbl
27.According to the reaction,” 6 H, > 4 PH;, how many moles of Hwould you need to produce 34 grams of
PH;?
(A) 0.67 moles (B) 1.5 mole (C) 4 moles (D) 6 moles

28.

29.

30

31.

32.
33.

34.

35.

36.
37.
38.
39.

40.

Consider the following reaction. Water,(®) is produced from the reaction of oxygen gag (@th hydrogen gas (H.
a. Write a balanced chemical equation for the reactio
b. Is the reaction a physical change or a chemicahgé?
Which is more concentrated: a 1.0 L solutiorhvi#® grams of sodium chloride (NaCl) or a 1.0 Lusioh with 20 grams
of sodium bromide (NaBr)? Explain your m@aisg.
.How many grams of MgO will you produce if you $taith 25.0g of Q? Show your work!!!
2Mg +©& 2MgO
What type of reaction is shown below?
GHg (9) + G (9) > COx(9) + HO ())
State the reaction type and balance the followipgation:  Pb (s) - (g) > Pbk(s)
State the reaction type, predict the producteffollowing reaction and balance the equation.
AICl; + Ca(OH}) >
Consider the following reaction:
Mg (s) + 2 HCI (aq)> MgCl; (aq) + H (9)
How many liters of hydrogenHlo you produce if 50 grams of hydrochloric a¢i€| reacts? Show your
work.
Consider the following reaction:
Mg (s) + 2 HCl fa& MgCl; (aq) + h (9)
How many atoms of magnesium, Mg, do youwrtegoroduce 94 grams of magnesium chloride, MgC3how your
work.

type of substance would you add to the gortdy to increase the pH? Why?
Label each as an acid or a base and statedfuitd feel slippery or not: a. NHb. HNG;, ¢. Ca(OH)
Indicate the color each of the following wotddn in phenolphthalein: a. NH b. HNGQ; c¢. Ca(OH)
Calculate the pH and pOH of each of the follmaAND indicate if it's an acid or a base:

a. 0.001 M HCI b. 0.1 M NaOH

color of the litmus paper at all?

41. Is HSO, a Bronsted-Lowry acid or Bronsted-Lowry base? Veauleact with a metal to produce Has?
Answers:
la 8d 15a 22 b 28a2H+0O, - 2H,0
2a 9a 16d 23 d 28b chemical change
3a 10a 17 a 24 ¢ 29 1.0L of 20g of NaCl because it contains nmates of solute.
4a 1la 18a 25a 30 62.5g MgO
5d 12b 19a 26 b 31 combustion
6 c 13d 20b 27 b 32 synthesis (or combination); already balanced
7a 1l4dc 2la 33 Double replacement; 2AIGl+ 3Ca(OH), » 2AI(OH)3; + 3CaCl,
34 156LH
35 6.02x¥ atoms (because 1 mole is needed)
36 Base, because bases have high pH’s
37 a. base; slippery b. acid; will ndeel slippery c. base; slippery
38 a. pink b. clear c. pink
39a.pH=3and pOH =11 b. pH=hdpOH =13
40 A bronsted-lowry base; it would tum red litmus paper blue.
41 A bronsted-lowry acid; yes
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Dr. Sanchez tested the pH of the frog pond inblaek yard. The pond has a pH of 3.5. The fragfepto live at a pH of 7. What

Is NH an Arrhenius base or a Bronsted-Lowry base? Wibtlgn blue litmus paper red, red litmus papereblor not change the
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